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(b) By using Integration by parts, find Ie“ sin 3xdx.
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(3) (a) Find the equations of the lines which passes through the points of intersection of two
straight lines 3x+5y+2=0 and 2x+3y-4=0 and

(i) Parallel to the straight line x~ y+1=0.
(ii) Perpendicular to straight line 5x+2y—-3=0.

(b) Find the co-ordinates at the centre and the radius of the circle S whose equation is given
by x*+y* =2x—2y+1=0and sketch the circle in the xy -plane.
Let P be the point on the circle S, furtherest the origin O. Write down the Co-ordinates
of the point P and show that the equation of the tangent line, / to the circle S at the point

P is given by x+y=2+\/§.
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